

AN ISHIKAWA TYPE PERTURBED ITERATIVE ALGORITHM
FOR A SYSTEM OF VARIATIONAL INCLUSIONS
WITH (H, η) -MONOTONE OPERATORS

Jie Shen^{1 §}, Li-Ping Pang²

¹School of Mathematics
Liaoning Normal University
Dalian 116029, P.R. CHINA

²Department of Applied Mathematics
Dalian University of Technology
Dalian, 116024, P.R. CHINA

Abstract: In this paper, we propose an Ishikawa type perturbed iterative algorithm for solving a system of variational inclusions with (H, η) -monotone operators in Hilbert spaces. We also prove the existence, uniqueness of the solution to the considered system and discuss the convergence of the proposed algorithm.

AMS Subject Classification: 47J20, 49J40, 90C30

Key Words: system of variational inclusions, (H, η) -monotone operator, resolvent operator technique, Ishikawa iterative algorithm, fixed point

1. Introduction

In 1998, Huang [1] considered a new class of generalized nonlinear implicit quasi-variational inclusions, presented an Ishikawa type perturbed iterative algorithm and analyzed the convergence of the proposed algorithm. In this paper, we consider a new system of variational inclusions involving (H, η) -monotone operators in Hilbert spaces, introduce the sequences of resolvent operators and propose an Ishikawa type perturbed algorithm for approximating the solutions of the system, the convergence of the proposed algorithm is also discussed. The result in this paper improves and extends many results in the corresponding

Received: March 11, 2011

© 2011 Academic Publications, Ltd.

§Correspondence author

literatures, see [2].

2. Preliminaries

Let \mathcal{H} be a real Hilbert space endowed with a norm $\|\cdot\|$ and an inner product $\langle \cdot, \cdot \rangle$. Let $2^{\mathcal{H}}$ denote the family of all nonempty subsets of \mathcal{H} .

Definition 2.1. Let $\eta : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ and $H : \mathcal{H} \rightarrow \mathcal{H}$ be two single-valued operators and $M : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be a multi-valued operator. Then M is said to be:

- (i) η -monotone if $\langle x - y, \eta(u, v) \rangle \geq 0, \forall u, v \in \mathcal{H}, x \in Mu, y \in Mv$;
- (ii) strictly η -monotone if M is η -monotone and the equality holds if and only if $u = v$.
- (iii) strongly η -monotone if there exists some constant $r > 0$ such that $\langle x - y, \eta(u, v) \rangle \geq r\|u - v\|^2, \forall u, v \in \mathcal{H}, x \in Mu, y \in Mv$;
- (iv) (H, η) -monotone if M is η -monotone and $(H + \lambda M)(\mathcal{H}) = \mathcal{H}$, for any $\lambda > 0$, where I stands for the identity operator.

Definition 2.2. Let $F : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}, H, f : \mathcal{H} \rightarrow \mathcal{H}$ be three single-valued operators.

(i) F is said to be strongly monotone in the first argument with respect to $(H \circ f)$, the composition of H and f , if there exists some constant $\theta > 0$ such that

$$\langle (H \circ f)(a_1) - (H \circ f)(a_2), F(a_1, b) - F(a_2, b) \rangle \geq \theta\|a_1 - a_2\|^2, \quad \forall a_1, a_2, b \in \mathcal{H},$$

where $(H \circ f)(a) = H(f(a)), a \in \mathcal{H}$;

(ii) F is said to be Lipschitz continuous in the second argument if there exists some constant $\alpha > 0$ such that $\|F(a, b_1) - F(a, b_2)\| \leq \alpha\|b_1 - b_2\|, \forall a, b_1, b_2 \in \mathcal{H}$.

Lemma 2.1. Let $\eta : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ be a single-valued operator, $H : \mathcal{H} \rightarrow \mathcal{H}$ be a strictly η -monotone operator and $M : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be a (H, η) -monotone operator. Then the operator $(H + \lambda M)^{-1} : \mathcal{H} \rightarrow \mathcal{H}$ is single-valued for all $\lambda > 0$.

Proof. For any given $x \in \mathcal{H}$, let $u, v \in (H + \lambda M)^{-1}(x)$. It follows that $-Hu + x \in \lambda M(u), -Hv + x \in \lambda M(v)$. The (H, η) -monotonicity of M implies that $\langle (-Hu + x) - (-Hv + x), \eta(u, v) \rangle \geq 0$, i.e., $\langle Hv - Hu, \eta(u, v) \rangle \geq 0$. The η -monotonicity of H implies that $u = v$. Thus, $(H + \lambda M)^{-1}$ is single-valued. This completes the proof. □

Definition 2.3. Let $\eta : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ be a single-valued operator, $H : \mathcal{H} \rightarrow \mathcal{H}$ be a strictly η -monotone operator and $M : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be a (H, η) -monotone operator. Then the resolvent operator $R_{M,\lambda}^{H,\eta} : \mathcal{H} \rightarrow \mathcal{H}$ is defined by $R_{M,\lambda}^{H,\eta}(u) = (H + \lambda M)^{-1}(u)$, $u \in \mathcal{H}$, where $\lambda > 0$ is a constant.

Lemma 2.2. Let $\eta : H \times H \rightarrow H$ be Lipschitz continuous with constant $\tau > 0$, $H : \mathcal{H} \rightarrow \mathcal{H}$ be strongly η -monotone with constant $\gamma > 0$ and $M : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be (H, η) -monotone. Then the resolvent operator $R_{M,\lambda}^{H,\eta} : \mathcal{H} \rightarrow \mathcal{H}$ is Lipschitz continuous with constant $\frac{\tau}{\gamma} > 0$, i.e., $\|R_{M,\lambda}^{H,\eta}(u) - R_{M,\lambda}^{H,\eta}(v)\| \leq \frac{\tau}{\gamma}\|u - v\|, \forall u, v \in \mathcal{H}$, where $\lambda > 0$ is a constant.

Proof. The proof can be obtained from the definition of $R_{M,\lambda}^{H,\eta}$, the η -monotone of M and the Lipschitz continuity of η and the η -monotonicity of H . □

3. A System of Variational Inclusions with (H, η) -Monotone Operators

In this section, we consider a system of variational inclusions with (H, η) -monotone operators in Hilbert spaces. Let $F, G, \eta : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$, $H_1, H_2, f, g : \mathcal{H} \rightarrow \mathcal{H}$ be seven operators, let $M : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be a (H_1, η) -monotone operator and $N : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be a (H_2, η) -monotone operator. Consider the problem of finding $a, b \in \mathcal{H}$ such that

$$\begin{aligned} 0 &\in F(a, b) + M(f(a)), \\ 0 &\in G(a, b) + N(g(b)). \end{aligned} \tag{1}$$

Lemma 3.1. Let $\eta : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ be a single-valued operator, $H_1, H_2 : \mathcal{H} \rightarrow \mathcal{H}$ be two strictly η -monotone operators, and $M : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be (H_1, η) -monotone and $N : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be (H_2, η) -monotone. Then $(a, b) \in \mathcal{H} \times \mathcal{H}$ is a solution of problem (1) if and only if (a, b) satisfies

$$\begin{aligned} f(a) &= R_{M,\rho}^{H_1,\eta}[H_1(f(a)) - \rho F(a, b)], \\ g(b) &= R_{N,\lambda}^{H_2,\eta}[H_2(g(b)) - \lambda G(a, b)], \end{aligned} \tag{2}$$

where $\rho > 0, \lambda > 0$ are two constants.

Proof. The results can be obtained directly from the definition of resolvent operator. □

Theorem 3.1. *Let $\eta : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ be Lipschitz continuous with constant $\sigma > 0$. Let $H_1 : \mathcal{H} \rightarrow \mathcal{H}$ be strongly η -monotone, Lipschitz continuous with constants $\gamma_1 > 0, \tau_1 > 0$, respectively, and $H_2 : \mathcal{H} \rightarrow \mathcal{H}$ be strongly η -monotone, Lipschitz continuous with constants $\gamma_2 > 0, \tau_2 > 0$, respectively. Let $M : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be (H_1, η) -monotone and $N : \mathcal{H} \rightarrow 2^{\mathcal{H}}$ be (H_2, η) -monotone. Let $f, g : \mathcal{H} \rightarrow \mathcal{H}$ be Lipschitz continuous with constants $\xi_1 > 0$ and $\xi_2 > 0$, respectively, and strongly monotone with constants $\zeta_1 > 0, \zeta_2 > 0$, respectively. Let $F : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ be an operator, F is strongly monotone with respect to $(H_1 \circ f)$ and Lipschitz continuous in the first argument with constants $r_1 > 0, s_1 > 0$, respectively, F is Lipschitz continuous in the second argument with constant $\theta_1 > 0$. Let $G : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ be an operator, G is strongly monotone with respect to $(H_2 \circ g)$ and Lipschitz continuous in the second argument with constants $r_2 > 0, s_2 > 0$, respectively, G is Lipschitz continuous in the first argument with constant $\theta_2 > 0$. If there exist two constants $\rho > 0, \lambda > 0$ such that*

$$\begin{aligned} &\gamma_2\gamma_1\sqrt{1-2\zeta_1^2+\xi_1^2}+\sigma\gamma_2\sqrt{\tau_1^2\xi_1^2+\rho^2s_1^2-2\rho r_1}+\sigma\lambda\theta_2\gamma_1 < \gamma_1\gamma_2, \\ &\gamma_1\gamma_2\sqrt{1-2\zeta_2^2+\xi_2^2}+\sigma\gamma_1\sqrt{\tau_2^2\xi_2^2+\lambda^2s_2^2-2\lambda r_2}+\sigma\rho\theta_1\gamma_2 < \gamma_1\gamma_2, \end{aligned} \tag{3}$$

then, problem (1) has a unique solution.

Proof. For any given $\rho > 0$ and $\lambda > 0$, define $T_\rho : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ and $S_\lambda : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H}$ by $T_\rho(a, b) = a - f(a) + R_{M,\rho}^{H_1,\eta}[H_1(f(a)) - \rho F(a, b)]$ and $S_\lambda(a, b) = b - g(b) + R_{N,\lambda}^{H_2,\eta}[H_2(g(b)) - \lambda G(a, b)], a, b \in H$. It follows from Lemma 2.2 that, for any $(a_1, b_1), (a_2, b_2) \in \mathcal{H} \times \mathcal{H}$,

$$\begin{aligned} \|T_\rho(a_1, b_1) - T_\rho(a_2, b_2)\| &\leq \|a_1 - a_2 - (f(a_1) - f(a_2))\| \\ &\quad + \frac{\sigma}{\gamma_1}\|H_1(f(a_1)) - H_1(f(a_2)) - \rho(F(a_1, b_1) - F(a_2, b_2))\|. \end{aligned} \tag{4}$$

Since f is strongly monotone and Lipschitz continuous, we have $\|a_1 - a_2 - (f(a_1) - f(a_2))\|^2 \leq (1 - 2\zeta_1 + \xi_1^2)\|a_1 - a_2\|^2$. According to the assumptions made in Theorem 3.1, we obtain

$$\begin{aligned} &\|H_1(f(a_1)) - H_1(f(a_2)) - \rho(F(a_1, b_1) - F(a_2, b_2))\| \\ &\leq \|H_1(f(a_1)) - H_1(f(a_2)) - \rho(F(a_1, b_1) - F(a_2, b_1))\| \\ &\quad + \rho\|F(a_2, b_1) - F(a_2, b_2)\|, \end{aligned} \tag{5}$$

$$\begin{aligned} &\|H_1(f(a_1)) - H_1(f(a_2)) - \rho(F(a_1, b_1) - F(a_2, b_1))\|^2 \\ &\leq (\tau_1^2\xi_1^2 + \rho^2s_1^2 - 2\rho r_1)\|a_1 - a_2\|^2 \end{aligned} \tag{6}$$

and $\|F(a_2, b_1) - F(a_2, b_2)\| \leq \theta_1 \|b_1 - b_2\|$. By combining the above inequalities, we have $\|T_\rho(a_1, b_1) - T_\rho(a_2, b_2)\| \leq (\sqrt{1 - 2\zeta_1 + \xi_1^2} + \frac{\sigma}{\gamma_1} \sqrt{\tau_1^2 \xi_1^2 + \rho^2 s_1^2 - 2\rho r_1}) \|a_1 - a_2\| + \frac{\sigma \rho \theta_1}{\gamma_1} \|b_1 - b_2\|$. Similarly, for the operator S_λ , we have $\|S_\lambda(a_1, b_1) - S_\lambda(a_2, b_2)\| \leq (\sqrt{1 - 2\zeta_2 + \xi_2^2} + \frac{\sigma}{\gamma_2} \sqrt{\tau_2^2 \xi_2^2 + \lambda^2 s_2^2 - 2\lambda r_2}) \|b_1 - b_2\| + \frac{\sigma \lambda \theta_2}{\gamma_2} \|a_1 - a_2\|$. Adding these two inequalities, we have $\|T_\rho(a_1, b_1) - T_\rho(a_2, b_2)\| + \|S_\lambda(a_1, b_1) - S_\lambda(a_2, b_2)\| \leq K(\|a_1 - a_2\| + \|b_1 - b_2\|)$, where

$$K = \max\left\{ \sqrt{1 - 2\zeta_1 + \xi_1^2} + \frac{\sigma}{\gamma_1} \sqrt{\tau_1^2 \xi_1^2 + \rho^2 s_1^2 - 2\rho r_1} + \frac{\sigma \lambda \theta_2}{\gamma_2}, \right. \\ \left. \sqrt{1 - 2\zeta_2 + \xi_2^2} + \frac{\sigma}{\gamma_2} \sqrt{\tau_2^2 \xi_2^2 + \lambda^2 s_2^2 - 2\lambda r_2} + \frac{\sigma \rho \theta_1}{\gamma_1} \right\}.$$

Define $\|\cdot\|_*$ on $\mathcal{H} \times \mathcal{H}$ by $\|(a, b)\|_* = \|a\| + \|b\|, \forall (a, b) \in \mathcal{H} \times \mathcal{H}$. It is clear that $(\mathcal{H} \times \mathcal{H}, \|\cdot\|_*)$ is a Banach space. For any given $\rho > 0, \lambda > 0$, define $Q_{\rho, \lambda} : \mathcal{H} \times \mathcal{H} \rightarrow \mathcal{H} \times \mathcal{H}$ by $Q_{\rho, \lambda}(a, b) = (T_\rho(a, b), S_\lambda(a, b)), (a, b) \in \mathcal{H} \times \mathcal{H}$. By (3) we know that $0 < K < 1$, it follows that $\|Q_{\rho, \lambda}(a_1, b_1) - Q_{\rho, \lambda}(a_2, b_2)\|_* \leq K\|(a_1, b_1) - (a_2, b_2)\|_*$. This proves that $Q_{\rho, \lambda}$ is a contraction mapping, hence, there exists a unique $(a, b) \in \mathcal{H} \times \mathcal{H}$ such that $Q_{\rho, \lambda}(a, b) = (a, b)$, i.e., $a = T_\rho(a, b) = a - f(a) + R_{M, \rho}^{H_1, \eta}[H_1(f(a)) - \rho F(a, b)], b = S_\lambda(a, b) = b - g(b) + R_{N, \lambda}^{H_2, \eta}[H_2(g(b)) - \lambda G(a, b)]$. By Lemma 3.1, (a, b) is the unique solution of problem (1). \square

4. An Ishikawa Type Perturbed Iterative Algorithm and Convergence Analysis

Algorithm 4.1 (ITPIA). Under the conditions of Theorem 3.1, for given $(a_0, b_0) \in \mathcal{H} \times \mathcal{H}$, the iterative sequences $\{a_n\}, \{u_n\}, \{b_n\}$ and $\{v_n\}$ are generated by the following iterative schemes

$$a_{n+1} = (1 - \alpha_n)a_n + \alpha_n [u_n - f(u_n) + R_{M, \rho}^{H_1^{(n)}, \eta}[H_1(f(u_n)) - \rho F(u_n, b_n)]] + \alpha_n p_n, \tag{7}$$

$$u_n = (1 - \beta_n)a_n + \beta_n [a_n - f(a_n) + R_{M, \rho}^{H_1^{(n)}, \eta}[H_1(f(a_n)) - \rho F(a_n, b_n)]] + \beta_n q_n,$$

$$b_{n+1} = (1 - \alpha_n)b_n + \alpha_n [v_n - g(v_n) + R_{N, \lambda}^{H_2^{(n)}, \eta}[H_2(g(v_n)) - \lambda G(a_n, v_n)]] + \alpha_n d_n, \tag{8}$$

$$v_n = (1 - \beta_n)b_n + \beta_n [b_n - g(b_n) + R_{N, \lambda}^{H_2^{(n)}, \eta}[H_2(g(b_n)) - \lambda G(a_n, b_n)]] + \beta_n f_n,$$

where $\alpha_n, \beta_n \in [0, 1], n = 0, 1, 2, \dots, \sum_{n=0}^{\infty} \alpha_n = \infty. H_1^{(n)} : \mathcal{H} \rightarrow \mathcal{H}$ are strongly η -monotone operators with constants $\gamma_1^{(n)} > 0, n = 0, 1, 2, \dots, H_2^{(n)} : \mathcal{H} \rightarrow \mathcal{H}$ are strongly η -monotone operators with constants $\gamma_2^{(n)} > 0, n = 0, 1, 2, \dots$ and $\gamma_1^{(0)} = \gamma_1, \gamma_2^{(0)} = \gamma_2, \gamma_1^{(n)} \uparrow \infty, \gamma_2^{(n)} \uparrow \infty. \{p_n\}, \{q_n\}, \{d_n\}, \{f_n\}$ are sequences in \mathcal{H} which are introduced in order to take into account any possible inexact computation.

Lemma 4.1. *Let $\{c_n\}, \{t_n\}, \{w_n\}$ be sequences of nonnegative numbers satisfying the following conditions: there exists n_0 such that $c_{n+1} \leq (1 - \lambda_n)c_n + \lambda_n t_n + w_n, \forall n \geq n_0$, where $\lambda_n \in [0, 1], \sum_{n=0}^{\infty} \lambda_n = \infty, \lim_{n \rightarrow \infty} t_n = 0, \sum_{n=0}^{\infty} w_n < \infty$, then $\lim_{n \rightarrow \infty} c_n = 0$.*

Theorem 4.1. *Assume that the conditions of Theorem 3.1 hold, and $\zeta_1 > \frac{\xi_1^2}{2}, \zeta_2 > \frac{\xi_2^2}{2}, \sum_{n=0}^{\infty} \alpha_n = \infty, \lim_{n \rightarrow \infty} p_n = \lim_{n \rightarrow \infty} q_n = \lim_{n \rightarrow \infty} d_n = \lim_{n \rightarrow \infty} f_n = 0$,*

$$R_{M,\rho}^{H_1^{(n)},\eta}[H_1(f(a)) - \rho F(a, b)] \rightarrow R_{M,\rho}^{H_1,\eta}[H_1(f(a)) - \rho F(a, b)], \text{ as } n \rightarrow \infty,$$

$$R_{N,\lambda}^{H_2^{(n)},\eta}[H_2(g(b)) - \lambda G(a, b)] \rightarrow R_{N,\lambda}^{H_2,\eta}[H_2(g(b)) - \lambda G(a, b)], \text{ as } n \rightarrow \infty.$$

Then the sequences $\{a_n\}, \{b_n\}$ generated by Algorithm 4.1 converge strongly to the unique solution (a, b) of problem (1).

Proof. Since by Theorem 3.1, problem (1) admits a unique solution, suppose that $(a, b) \in \mathcal{H} \times \mathcal{H}$ is the unique solution of problem (1). According to Lemma 3.1, we have $a = (1 - \alpha_n)a + \alpha_n[a - f(a) + R_{M,\rho}^{H_1,\eta}[H_1(f(a)) - \rho F(a, b)], a = (1 - \beta_n)a + \beta_n[a - f(a) + R_{M,\rho}^{H_1,\eta}[H_1(f(a)) - \rho F(a, b)], b = (1 - \alpha_n)b + \alpha_n[b - g(b) + R_{N,\lambda}^{H_2,\eta}[H_2(g(b)) - \lambda G(a, b)], b = (1 - \beta_n)b + \beta_n[b - g(b) + R_{N,\lambda}^{H_2,\eta}[H_2(g(b)) - \lambda G(a, b)].$ Therefore,

$$\begin{aligned} \|a_{n+1} - a\| &\leq (1 - \alpha_n)\|a_n - a\| + \alpha_n \sqrt{1 - 2\zeta_1 + \xi_1^2} \|u_n - a\| + \alpha_n \|p_n\| \\ &\quad + \alpha_n \frac{\sigma}{\gamma_1^{(n)}} \|H_1(f(u_n)) - \rho F(u_n, b_n) - (H_1(f(a)) - \rho F(a, b))\| \quad (9) \\ &\quad + \alpha_n c_n^1, \end{aligned}$$

where $c_n^1 = \|R_{M,\rho}^{H_1^{(n)},\eta}[H_1(f(a)) - \rho F(a, b)] - R_{M,\rho}^{H_1,\eta}[H_1(f(a)) - \rho F(a, b)]\|$, and the last inequality comes from Lemma 2.2, the strong monotonicity and Lipschitz continuity of f . Furthermore, we have $\|H_1(f(u_n)) - \rho F(u_n, b_n) - (H_1(f(a)) - \rho F(a, b))\| \leq \sqrt{\tau_1^2 \xi_1^2 + \rho^2 s_1^2 - 2\rho r_1} \|u_n - a\| + \rho \theta_1 \|b_n - b\|$. Hence

$$\begin{aligned} \|a_{n+1} - a\| &\leq (1 - \alpha_n)\|a_n - a\| + \alpha_n h_n \|u_n - a\| + \alpha_n \|p_n\| + \alpha_n c_n^1 \\ &\quad + \alpha_n \frac{\sigma \rho \theta_1}{\gamma_1^{(n)}} \|b_n - b\|, \end{aligned} \tag{10}$$

where $h_n = \sqrt{1 - 2\zeta_1 + \xi_1^2} + \frac{\sigma}{\gamma_1^{(n)}} \sqrt{\tau_1^2 \xi_1^2 + \rho^2 s_1^2 - 2\rho r_1}$. Similarly, by the iteration scheme we have the following estimation:

$$\begin{aligned} \|u_n - a\| &\leq (1 - \beta_n)\|a_n - a\| + \beta_n \left(\sqrt{1 - 2\zeta_1 + \xi_1^2} + \frac{\sigma}{\gamma_1^{(n)}} \sqrt{\tau_1^2 \xi_1^2 + \rho^2 s_1^2 - 2\rho r_1} \right) \\ &\quad \|a_n - a\| + \beta_n \|q_n\| + \beta_n c_n^1 + \beta_n \frac{\sigma}{\gamma_1^{(n)}} \rho \theta_1 \|b_n - b\|. \end{aligned} \tag{11}$$

It follows that

$$\begin{aligned} \|a_{n+1} - a\| &\leq [1 - \alpha_n + h_n \alpha_n (1 - \beta_n + \beta_n h_n)] \|a_n - a\| + \alpha_n h_n (\beta_n c_n^1 + \beta_n \|q_n\|) \\ &\quad + \alpha_n \|p_n\| + \alpha_n c_n^1 + \alpha_n \rho \theta_1 \frac{\sigma}{\gamma_1^{(n)}} (1 + \beta_n h_n) \|b_n - b\|. \end{aligned} \tag{12}$$

Condition (3) implies that $0 < h_n < 1$, $n = 0, 1, 2, \dots$, hence, we obtain

$$\begin{aligned} \|a_{n+1} - a\| &\leq [1 - \alpha_n (1 - h_n)] \|a_n - a\| + \alpha_n (1 - h_n) \sigma_n \\ &\quad + \frac{\alpha_n \rho \theta_1 \sigma (1 + \beta_n h_n)}{\gamma_1^{(n)}} \|b_n - b\| \end{aligned} \tag{13}$$

where $\sigma_n = \frac{(1+h_n\beta_n)c_n^1+h_n\beta_n\|q_n\|+\|p_n\|}{1-h_n}$. Again, by repeating the similar arguments, we obtain

$$\begin{aligned} \|b_{n+1} - b\| &\leq [1 - \alpha_n + \alpha_n k_n (1 - \beta_n + \beta_n k_n)] \|b_n - b\| + \alpha_n k_n (\beta_n \|f_n\| + \beta_n c_n^2) \\ &\quad + \alpha_n \|d_n\| + \alpha_n c_n^2 + \alpha_n \lambda \theta_2 \frac{\sigma}{\gamma_2^{(n)}} (1 + k_n \beta_n) \|a_n - a\|, \end{aligned} \tag{14}$$

where $k_n = \sqrt{1 - 2\zeta_2 + \xi_2^2} + \frac{\sigma}{\gamma_2^{(n)}} \sqrt{\tau_2^2 \xi_2^2 + \lambda^2 s_2^2 - 2\lambda r_2}$, $c_n^2 = \|R_{N,\lambda}^{H_2^{(n)},\eta} [H_2(g(b)) - \lambda G(a, b)] - R_{N,\lambda}^{H_2,\eta} [H_2(g(b)) - \lambda G(a, b)]\|$. Condition (3) implies that $0 < k_n < 1$, $n = 0, 1, 2, \dots$, hence, we obtain $\|b_{n+1} - b\| \leq [1 - \alpha_n (1 - k_n)] \|b_n - b\| + \alpha_n (1 - k_n) \delta_n + \alpha_n \lambda \theta_2 \frac{\sigma (1 + \beta_n k_n)}{\gamma_2^{(n)}} \|a_n - a\|$, where $\delta_n = \frac{(1+k_n\beta_n)c_n^2+k_n\beta_n\|f_n\|+\|d_n\|}{1-k_n}$. Then we have $\|a_{n+1} - a\| + \|b_{n+1} - b\| \leq [1 - \alpha_n (1 - h_n - \lambda \theta_2 \frac{\sigma (1 + \beta_n k_n)}{\gamma_2^{(n)}})] \|a_n - a\| +$

$[1 - \alpha_n(1 - k_n - \rho\theta_1 \frac{\sigma(1+\beta_n h_n)}{\gamma_1^{(n)}})] \|b_n - b\| + \alpha_n[(1 - h_n)\sigma_n + (1 - k_n)\delta_n]$. Set $m = \min\{1 - \sqrt{1 - 2\zeta_1 + \xi_1^2}, 1 - \sqrt{1 - 2\zeta_2 + \xi_2^2}\}$. Since $0 < h_n, k_n < 1, \beta_n \in [0, 1]$, for all $n \geq 0$, $\{h_n\}, \{k_n\}, \{\beta_n\}$ are bounded, and because we assume that $\gamma_1^{(n)} \uparrow \infty, \gamma_2^{(n)} \uparrow \infty$ as $n \rightarrow \infty$, for some positive number ε satisfying $\varepsilon < m < 1 + \varepsilon$, there exists a positive integer n_1 such that for $n \geq n_1$, $h_n < \sqrt{1 - 2\zeta_1 + \xi_1^2} + \frac{\varepsilon}{2}, \lambda\theta_2 \frac{\sigma}{\gamma_2^{(n)}}(1 + \beta_n k_n) < \frac{\varepsilon}{2}$ and $k_n < \sqrt{1 - 2\zeta_2 + \xi_2^2} + \frac{\varepsilon}{2}, \rho\theta_1 \frac{\sigma}{\gamma_1^{(n)}}(1 + \beta_n h_n) < \frac{\varepsilon}{2}$. Therefore, $\|a_{n+1} - a\| + \|b_{n+1} - b\| \leq [1 - \alpha_n(m - \varepsilon)](\|a_n - a\| + \|b_n - b\|) + \alpha_n(m - \varepsilon) \frac{(1-h_n)\sigma_n + (1-k_n)\delta_n}{m-\varepsilon}$. Because $\lim_{n \rightarrow \infty} p_n = \lim_{n \rightarrow \infty} q_n = \lim_{n \rightarrow \infty} d_n = \lim_{n \rightarrow \infty} f_n = 0$, we derive that $\sigma_n \rightarrow 0, \delta_n \rightarrow 0$ as $n \rightarrow \infty$. Let $c_n = \|a_n - a\| + \|b_n - b\|, t_n = \frac{(1-h_n)\sigma_n + (1-k_n)\delta_n}{m-\varepsilon}, \lambda_n = (m - \varepsilon)\alpha_n$, then $c_{n+1} \leq (1 - \lambda_n)c_n + \lambda_n t_n, \forall n \geq n_1$, and we have $\lambda_n \in [0, 1], n = 0, 1, 2 \dots, \sum_{n=0}^{\infty} \lambda_n = \infty, t_n \rightarrow 0$ as $n \rightarrow \infty$. By Lemma 4.1, we have $c_n \rightarrow 0$ as $n \rightarrow \infty$. Hence, $a_n \rightarrow a, b_n \rightarrow b$ as $n \rightarrow \infty$. This completes the proof. \square

Acknowledgments

The authors thank the referees for their valuable comments and suggestions.

This research was supported by Higher School Research Project of Educational Department of Liaoning Province (Grant L2010235).

References

- [1] N.J. Huang, Mann and Ishikawa type perturbed iterative algorithms for generalized nonlinear implicit quasi-variational inclusions, *Computers and Mathematics with Applications*, **35**, No. 10 (1998), 1-7.
- [2] Y.P. Fang, N.J. Huang, A new nystem of variational inclusions with (H, η) -monotone operators in Hilbert spaces, *Computers and Mathematics with Applications*, **49** (2005), 365-374.
- [3] S.S. Chang, On Chidume's open questions and approximate solutions of multivalued strongly accretive mapping equations in Banach spaces, *J. Math. Anal. Appl.*, **216**, No. 7 (1997), 4197-4208.